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1. 	 Evaluate the following limits. 

6 

a) 	 lim x + 3 ( 6 %) b) lim -JSx -x (6 %) 

x4-3 + Sx-3 X4-0':> 3x + 1 


it2. 	 Find the equation of the line tangent to the graph of 2x + 3y = COS(xy2) at the point (2' 1). 

( 10 %) 

3. 	 Evaluate the following integrals 

3 

a) 	 S(2x+l)(x-l) lOdx (7%) b) S(lnx)2dx (70/0) 
1 

4. 	 Determine whether the following series converges or diverges? 
Cfjj";i 1Cfj 

a) I 2 (7 % ) b) I 	 (7%) 
n=! 	1+ n n=2 n(lnn)2 

S. 	 a) Find the Maclaurin series of f(x) = sin(2x) (S %) 
x 

b) Use the power series obtained in a) to approximate the value of Ysin2xdx accurate to third 
o 	 x 

decimal place. (8 0/0) 

c) Find f(99)(0). (S%) 

6. 	 Show that if w(r,s,t) = f(2r - 2s,s t,3t 3r) then aw + aw + aw = 0 ( 8 0/0) 
ar as 	 at 

7 	 Evaluate the following double integral 

a) SS x 
2y -Jl +X3 dA where D = {(x,y); 	 0 ~ x ~ 2, 0 ~ y ~ I} (70/0) 

D 

I I 1 

b) J J 2 dxdy . (7 %) 


o y 	1+x 

8 	 Find the volume of the solid bounded above by the sphere x2+ y2 + Z2 =8 , below by the 

plane z = 4. ( 100/0) 
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